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75° 0.96 0.26
76° 0.97 0.24

>
> e 13a + 13¢ = 490

B

5
L0 = 75° O|BE cosT5" = = = 026, sinT5° = 2 — 0.96

ojlm=z
_ 500 250 250 96 240

e P AV e O S Lk R =
%~ 13°°= 13 X100 13 *) oHTH
wbA] 134 + 13¢ = 250 + 240 = 490 ©| T},




ojWl o] Wk 5L 18cm 2tal e}, o] 5 HH o7 gty
HEz2]50] 10em 91 Yo] gk uf, o] HHy} o] FAHTe] A=
2 cm A7}

@4\/ﬁcm @ 3+V1ldcm ® 2+V1ldcm
@ +V1dcem ® gcm

B ‘

x = V182 - 102
= V324 - 100

Il
W~
58
=] o
=

(cm)




HE, A F 790 AR, AT © A
Holxl, AR BC 7F ¥ O & YA
2, AABC 9] 39 Zol=?

® 10V3cm @ 12v3cm @14\/§cm
@ 16 V3cm ® 17v3cm

AE = AF =7V3cm, BC=BE + CFo|2&
AB +BC + CA = AE + AF = 14 V3(cm)
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